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=) UPCOMING ONLINE BATCHES

07 DEC 2022

03:00 PM to 05:00 PM

BANK ONLINE LIVE CLASS

10:30 AM to 12:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL

December 2022

14 DEC 2022

07:30 PM to 09:30 PM

BANK ONLINE LIVE CLASS

01:00 PM to 03:00 PM

SSC ONLINE LIVE CLASS

BILINGUAL

14 DEC 2022

06:30 PM to 08:30 PM

BANK ONLINE LIVE CLASS

ENGLISH

21 DEC 2022

08:00 AM to 10:00 AM

BANK ONLINE LIVE CLASS

07:30 PM to 09:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL

28 DEC 2022

05:30 PM to 07:30 PM

BANK ONLINE LIVE CLASS

01:00 PM to 03:00 PM

SSC ONLINE LIVE CLASS

BILINGUAL

28 DEC 2022

02:00 PM to 04:00 PM

BANK ONLINE LIVE CLASS

BENGALI

& www.mahendras.org e \ 7052477777/7052577777
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Thank-you Sir for this very Amazing Class Session of todays..

(@mohit..3476 20 hours aqe

And

My Answer for today's Homework is-
Option E == None of these == 780.
40%120 /1440 == 20130 /A,
A==T80.

Thank-you So Much, Sir Ji.. &

Show less
[ﬂ" '-{7] Reply

v (%] *'.g|:;|3.'
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A fruit seller had some apples. He sold 40% apples and still had 540 apples.

The number of apples he had originally was:

Tk el skl o UTH S S o I8 40% A o< 13U AR 39k T v+t «ff 540
U I | IHeh UTH WA €U W Wl ki HEAT FeherT off?

a) 600
b) 800
c) 740
d) 900
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The monthly salaries of an officer and a clerk are in the ratio 11 : 4. If the
monthly salary of the officer increases by ¥7,000 and that of the clerk by %3,000,
then the ratio becomes 19 : 7. What was the initial salary (in ) of the officer?
Tk STTAR 3R U Foleh o WITHeh oa- ohT STUTA 11 : 4 ¥ TS TR &
TR S | 27,000 37 FeTeh o A § 3,000 3T Jfg et 8, Ot Sura 19 : 7 8
AT 21 Arferer i SRt URTSTeR S (2 /) TeRamT o?

a) 88,000
b) 1,52,000
¢) 56,000
d) 32,000
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Which is the greatest number of seven digits, which when divided by 10, 15, 20,
24 and 30, leaves the remainder 6,11, 16, 20 and 26 respectively?

T 37kt ch! Ta@ Tt HEAT i €1 2, ™A 10, 15, 20, 24 3R 30 ¥ forarira s
T YT SHEIT: 6, 11, 16, 20 3R 26 UTH 24 22

a) 9999960
b) 9999956
c) 9999980
d) 9999976
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What is the value of 12 - [3+ {4 0f2+-8-(8-6 +3)}]
12-[3+ {2T4+8-(8-6+3)}] &I AT ThadT &2

a) 20
b) 12
c) 14
d) 10



SSC GD 2022-23

The HCF of 3073, 1756 and 4829 is x. The product of the digits of x is
3073, 1756 3T 4829 T HEWH HHTISh, X 2| X o 3Tehl T TUHEH 2

a) 96

| b) 72
</(\ EED /'\.> c) &l

d) 108
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A 253 m long train running at a speed of 60 km/h takes 42 seconds to cross a
bridge. The length (in m) of the bridge is

Uk 253 WieX St ¢ 60 TeRwfi/sier i Tiid & oret T ¥ 37 Uk UeT i UR & | 42
Hehe T T AT gl UeT shi oiaTg (Wiet W) fohat 82

a) 447
b) 435
c) 443
d) 427
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By selling a guitar for ¥846, Rima loses 6%. For how much should Rima sell it

to gain 8%?

Uk fER &t 846 TUA | e TR THT 6T 6% kT BT Bt 21 THT T 8% hT TH

AT T o T8 3H Tohas TUA | 2T A1RT?

a) ¥912
b) ¥992
c) %972
d) %922
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Excluding stoppages, the speed of a bus is 60 km/h and including stoppages, it

is 42 km/h. For how many minute does the bus stop per hour?

o = S, U T@ i Tl 60 forHivEeT 7 ot et uiga, ag 42 fendiyeer
2 7@ e o fepan e o foru serdt 22

a) 12
b) 18
c) 9

d) 10
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Two positive numbers are in the ratio 7 : 4. If the difference between their

squares is 297, then the sum of the two numbers is:

T LT €EATY 7 : 4 o STUTA W §| TG ITck ST bt 3T 297 &, AT AT

AT hT I fehd-T 22

35
33
32
42
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A man spends 74% of his income. If his expenditure increases by 30% and

savings increase by 25%, then by what percentage will his income increase?

Ueh STk ST 3T T 74 TTA9TE Tl el 81 AT THeh 507 | 30% ohl gieg Brell
T AR TOd W 25% hi qfg et &, av Saeht o | fohaw wierera 61 gieg gwm?

a) 28.7%
b) 26.8%
c) 27.8%
d) 27.2%
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One-third of the goods are sold at 15% profit, 25% of the goods are sold at
20% profit, and the rest of the goods are sold at 10% loss. If a profit of 350 is

earned in the entire transaction, then the original value of the goods (in %) is:

T TETs TEqatt ol 15% ST UX ST ATAT 8, 25% TEGST bl 20% T T a4
SATAT &, 3T 919 TEG3AT T 10% T U AT ATGT g1 ATS U TG T T350 6T ATH

AR ToRaT ST &, AT TEqRAT T TTEA (T Hed (T ) Rt 82

a) 5,400
b) 7,200
c) 9,000
d) 6,000
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The distance between two stations A and B is 700km. A train covers the
journey from A to B at a speed of 80 km/h and returns back to A with a
uniform speed of 65 km/h. The average speed of train during the whole

journey, is closes to:

T A SR B o sfter 61 gl 700 Toret 31 T YISt A & B ek shi g8 6 80
Terwt/ereT <hY T & 9= SRt § 3T 65 TorHi/eeT shl TerE| T TTd & A W aTad
itedt 31 U ATAT ok TR o <h oftera et foheten feheaw 82

a) 74 km/h

b) 71.72 km/h
¢) 72.7 km/h

d) 70.73 km/h
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